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(e) atrocious
Q643.

120.

(a) contradictions
(b)advices

(c) reasons
(d)results

(e) indications
Q644.

121.

(a) production
(b) requirement
(c) prices

(d) yield
(e)labouri
Q645.

122.

(a) trigger

(b) lead
(c)result

(d) contribute
(e) dampen
Q646.

123.

(a) improving
(b) balanced
(c) stable

(d) increasing
(e) decreasing

124.
(a) aggravate

(b) amend ¢

(c) smoothen

(d) improve

(e) challenge ¢
Q648.

125.

(a) unprofitable

(b) futile

(c) maximum
(d) growing
(e) down

Directions: e following passage there are blanks,
each of which” has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

There is a considerable amount of research about the
factors that make a company innovate. So is it possible to
create an environment (___126__) to innovation ? This is a
particularly pertinent (___127__) for India today. Massive
problems in health, education etc. (__128__) be solved
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(a) cannot
Q647. < l (b) possibly
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using a conventional approach but (__129__) creative and
innovative solutions that can ensure radical change and
(__130__). There are several factors in India’s (__131__).
Few countries have the rich diversity that India or its large,
young population (__132__). While these (__133_)
innovation policy interventions certain additional steps
are also required. These include (__134___) investment in
research and development by (__135__
and the private sector, easy transfer
the academic world etc. To fulfil
prosperous and to be at the
innovative.

Q649.

126.

(a) stimuli

(b) conducive

(c) incentive

(d) facilitated *

(e) impetus

(c) should1
(d) never

(e) must
Q652.

129.

(a) necessary
(b) apply

(c) need

(d) consider
(e) requires
Q653.

130.

(a) quantity
(b) advantages
(c) increase
(d) chaos

(e) growth

Q654.
131.

(a) challenges

(b) praises
(c) favour
(d) leverage
(e) esteem

www.jkchrome.com
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Q655.
132.

(a) blessed
(b) enjoys
(c) endows
(d) prevails
(e) occurs
Q656.

133.

(a) aid

(b) jeopardise
(c) promotes
(d) endure
(e) cater

Q657.
134.

(a) acute

(b) utilising
(c) restricting
(d) inspiring
(e)Increased

Q658.
135.

(a) both

(b) besides

(c) combining
(d) participating
(e) also

Directions: in the following passage there ar
each of which has been numbered. i
number, five words are suggested, o
blank appropriately. find out the &) r
each case.

www.jkchrome.com www.jkchrome.com

granted without a mechanism to make the market reflect
their value. Rainforests are also a home and (___143__) of
income for a huge number of people in Africa, Asia, and
South America. (__144__) this, economic pressures
frequently drive both local communities and national
governments in the developing world to (__145__) these
forests in ways that are unsustainable, clearcutting vast
areas for fuel, timber, mining, or agricultu d.

Q659.

136.

(a) ended

(b) destroyed

(c) extinct

(d) killed

(e) wasted

Q660.

137.

(a) tough 4

(b) important
(c) vital
(d) bi

(c) increases
(d) alternates
(e) impairs

b Q662.
139.
e (a) plagues
rd in (b) develops

(c) reduces

Around the world, forests are being (__1 ) at a rate of (d) shortens
about thirteen million hectares atyear $d forestation (e) influences
accounts for an estimated 20% all global Q663.
emissions. In addition, for: r terrestrial carbon 140.
sinks play a (__137__)r enting runaway climate (a) sell
change, soaking up 6 Gt of atmospheric carbon (b)offers
every year. The forests, therefore, not only (c)give
emits carbon a 1.6 Gt a year, which severely (d)provide
(_138_) capacity to absorb emissions from (e) earns
other sources o drastically (__139___) the amount Q664.
of foreste vailable to act as a carbon sink in the 141.
future. However, the effects of deforestation extend (a) transforming
beyond carbon. Rainforests (__140__) a wide variety of (b)decoding
ecosystems services, from regulating rainfall to purifying (c) erupting
ground water and keeping fertile soil from (__141_ ) (d)draining
deforestation in one area can seriously damage food (e) eroding
production and (__142__) to clean water in an entire Q665.
region. The value of global ecosystem services has been 142.
estimated at ___33___ trillion USD each year (almost half of (a) handiness
global GDP), but these services have been taken for (b) excess
www.jkchrome.com www.jkchrome.com www.jkchrome.com
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(c)availability
(d) access,
(e)supply
Q666.

143.

(a) beginning
(b) source
(c) ways

(d) reference
(e) measure
Q667.

144.

(a) Despite
(b) Also

(c) Inspite
(d) Apart

(e) Beside
Q668.

145

(a) exploit
(b) encompass
() nurture
(d) work

(e) Improve,

Directions: in the following passage there are blanks,
each of which has been numbered. agains
number, five words are suggested, one of which

blank appropriately. find out the appropriate
each case.

www.jkchrome.com www.jkchrome.com

Q670.
147.

(a)objective

(b)controversy

(c)doubt

(d)question

(e) inference

Q671.

148.

(a)cannot

(b)possibly

(c)should

(d)never

(e) must

Q672.

149.

(a) necessary

(b) apply ¢
(c)need

e (e) growth

Q674.
151.

There is a considerable amount of resear (a) challenges
factors that make a company innovate. i (b) praises
create an environment (___148__ ) to (c)favour
particularly pertinent 1147) for Indi (d) leverage
problems In health, education etc.1148) b (e) esteem
conventional approach but ( Q675.
innovative solutions that can radical*change and 152.

(___150__). There are sev

India’s (__151_).

(a) blessed

Few countries have the ri that India or its large, (b) enjoys
young population (. ). While these (__153_) (c)endows
innovation policygi ns certain additional steps (d) prevails
are also required clude (___154__) investment In (e) occurs
research and ment by (___155__) the government Q676.

and the priva r, easy transfer of technology from 153.

the academ 1d etc. To fulfill Its promise of being (a) aid
prosperous and ‘to be at the forefront, India must be (b)jeopardise
innovative. (c)promotes
Q669. (d) endure
146. (e) cater
(a)stimuli Q677.
(b)conducive 154.
(c)incentive (a) acute
(d)facilitated (b) utilising
(e) impetus (c)restricting

www.jkchrome.com
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(d) inspiring
(e) increased
Q678.

155.

(a) both

(b) besides
(c)combining
(d)participating
(e)also

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The fact that the majority of south Asia’s population of
about 1.5 billion (__156___) in villages points towards the
need for marketers to develop a good understanding of
rural markets and the rural marketing phenomenon. For
our purpose, we define rural marketing (__157__) any
marketing activity in which one dominant participant is
from a rural area. This implies that rural marketing
comprises marketing of inputs to rural markets as well as
marketing of outputs from rural markets to (___158_ )
geographical areas. It Is not only the size of the population
that makes rural markets in South Asia very (__159__) for
marketers in India. Rural markets (___160__) for a simi
proportion for consumer durable products too. B
system, limited availability of credit faciliti
problems of storage infrastructure are
(_161_) for marketers. These
need(___162__) solutions. All t
governments  accord  special
development of rural areas by address i s such as
poverty, unequal growth, and poor,infras re. This has

(e) While
Q681.
158.
(a)Diverse
(b)Another
(c)Different
(d)Other

(e) Many
Q682.

159.

(a)Valid
(b)Central
(c)Iimportant
(d)Trivial

(e) Prime
Q683.

160.

(a) Responded
(b)Counted

& actions
b)iObstacles
(c)Challenges
(d) Pitfalls
(e)Diversions

Q685.

162.

(a) Pragmatic
(b) Scientific,
(c)Radical

(d) Innovative
(e) Practical

the last few years, in all th Asian Countries. In Q686.
addition, investments by in improving farm 163.
productivity  and greater, employment (a) Fund
opportunities in rural ash have made rural markets in (b)Budget
South Asia more d prosperous (c) Attention
Q679. (d) Primacy
156. (e) Resources
(a) Believ Q687.
(b) Resides 164.
(c)Concentrates (a) Appreciable
(d) Focuses (b)Revolutionary
(e) Amalgamates (c)Mindboggling
0Q680. (d)Astonishing
157. (e)Surprising
(a)Since Q688.
(b)For 165.
(c)By (a) Appropriate
(d)As (b) Relevant
www.jkchrome.com www.jkchrome.com

www.jkchrome.com

www.jkchrome.com



5 www.jkchrome.com

(c) Vibrant
(d) Challenging
(e) Dynamic

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

India with its 600 universities and 35,000 colleges is the
third (__166__) education system in the world. But 68
per cent of these universities and 73 per cent of colleges
are (__167__) to be medium or low quality by Indian
standard itself. With a severe shortage of quality higher
education institutions, India faces the challenge of
educating nearly 30 per cent of its 1,1 billion people.
Certainly, India requires many more institutions of higher
(__168__) since nearly 100 million students are going to
the higher education market in the next 10 years. In such a
scenario improving the standards of (__169__)
universities and establishing quality institutions should be
our priority. Steps should be (__170__) to reduce the
disconnect between higher education institutions and
industry requirements. The possibilities of private sector
contributions in higher education should be fully exploited.
The practice of big business houses and philanthropists
promoting quality universities in the west could
(__171__) in India. But before initiating such
sector participation in higher education the gov

experience that the mushrooming of s
and (__172__) universities (___17

s of patents
sential in

improving India’s global
economic development d
quality higher education
full benefits of our de
redress inefficiencies i

ic dividend. In its mission to
education, the strategies of
technical education, distance

infrastructure, faculty and
holehearted, coordinated efforts of

needed to (__1
Q689.

166.

(a) largest

(b) large

(c) larger

(d) bigger

(e) affluent
Q690.

___) the plans educational goals.

www.jkchrome.com
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167.
(a) founded

(b) found

(c) finding

(d) being found

(e) been founded

Q691.

168.

(a) learn

(b) learning

(c) played

(d) paid

(e) paying

Q692.

169.

(a) existing

(b) existed

(c) perished 4
(d) excellent
(e) exciti

(e) forwarded
Q694.

171.

(a) repeated
(b) replicated
(c) copying
(d) repeating
(e) replicating
Q695.

172.

(a) deemed
(b) deeming
(c) dreaming
(d) dreamt
(e) deemful
Q696.

173.

(a) have

(b) has

(c) has been
(d) have been
(e) would be
Q697.

174.

(a) for

(b) in

(c) with

(d) to

www.jkchrome.com
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(e) by

Q698.

175.

(a) realise

(b) realising
(c) understand
(d) achieving
(e) realised

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Women (__176___) up half the world’s population and yet
represent a staggering 70% of the world’s poor. We live in
a world iri which women living in poverty face gross
(__177__) and injustice from birth to death. From poor
education to poor nutrition to (__178__) and low pay
employment, the sequence of discrimination that a woman
may suffer during her entire life is unacceptable but all too
common. Millennium Development Goal 3 is to promote
gender equality and empower women. This MDG is critical
for (__179__) poverty and improving prospects for
women. But how can women break gender based
stereotypes to minimise discrimination and (__180_)
gender based violence when they are trapped In societj
with sociocultural practices which routinely discri te
them from having equal opportunities in educatio

and livelihood? These women are invisible fan
(___181__) in their way prevent them from accessing the

most basic human rights and needs. Th k.
Women make up 70% of the worl s and
(___182__) only 10% of the world’s 1 nd half of
what men earn. This leads to greater erty, slower

f living. In

economic growth and a (__183 stan?
developing countries, millions en also die each year
as a result of gender base . This deep rooted
ak outlook for women
millions of girls living in
st to them who work against
heir Immediate environment ig
nd sometimes, downright harmful.
rriages when you are a child.
Neighbours if you are a girl, you must limit your
activities to your home. Friends say, it is OK not to go to
school.

Q699.

176.

(a) made

(b)make

(c)look

(d)has made

(e) complete

www.jkchrome.com
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Q700.
177.
(a) equality

(b)affection

(c)inequality

(d)support

(e) justice

Q701.

178.

(a) vulnerable

(b) weakness
(c)vulnerability

(d)specific

(e)weakest

Q702.

179.

(a) tackle

(b)tackling 4
(c)fight

(d)reduce

(e) influencing
Q704.

181.

(a) obstacles
(b)make
(c)pleasantries
(d)pebbles

(e) encouragements
Q705.

182.

(a) earns
(b)earned
(c)spend
(d)earn

(e)(51 spends

Q706.
183.

(a) slow
(b)slower
(c)low
(d)lowest
(e) lower
Q707.

184.

(a) violence
(b)violent
(c)virulent

www.jkchrome.com
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(d)corruption
(e) violation
Q708.

188.

(a) functional
(b) natural
(c)artificial
(d)dysfunctional
(e)disfunctional

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Generally a disaster (__186___) in significant loss in social,
psychological, and economic aspects. It not only
(___187__) to structural damages, but also leaves families
tom apart, children orphaned, livelihoods destroyed, and
communities traumatized Non-structural factors such as
lack of responsiveness of government officials and
Ineffective leadership are mainly (__188__) for any
disaster mismanagement. India is (__189__) to a variety
of natural and manmade disasters. Strong and effective
emergency management has been a felt (__190__) In all
comers of the world. Effective policies play a vital role in
mitigating the impact of disasters and (___191_ ), lik
losses of life and property .Economic resourc re
important for any disaster management, (___192

been recognized that economic resources Adid

necessarily translate into greater inves in e
domain, as there is no (__193__) of is ed
governments attention and sou isaster
management has (___194__) acquired ce in the

agenda of governance, unless there is a
manmade disaster. The major sh
Indian disaster management,
solutions, are discussed (_
Q709.

186.

(a)result
(b)results
(c)resulted
(d)imped

(e) sends

Q710.

187.

(a)leads
(b)leading, ]3)led
(c)has led

(d) will lead

(e)

Q711.

188

www.jkchrome.com
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(a) response

(b) responding
(c)responsible

(d) liable

(e) careful

Q712.

189.

(a)vulnerable

(b)unaffected

(c)strong

(d)voracious

(e) voluble

Q713.

190.

(a)needful

(b)need

(c)voice

(d)vitality *
(e)needs

Q714.

(c)Till
(d).Until
(e) Yet
Q716.
193.

(a)deficit
(b)dearth
(c)plenty
(d)plentiful
(e)scarce
Q717.

194.
(a)regularly
(b)generally
(c)particularly
(d)often

(e) seldom
Q718.

195.

(a)on

(b)in
(c)within
(d)of

(e) with

www.jkchrome.com
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Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The traditional method of managing credit risk is
(___196__) diversification. Although (__197__) credit risk
through diversification is effective, institutions are often
constrained by (___198__) of diversification (__190__) on
account of limited area of (___200__). During the last few
years, managing credit risk through selling assets by way
or securitisation has (__201__) in popularity. The market
for securitized assets has grown (___202___) in the last few
years and Is expected to grow further in the (__203_)
years. This mode or credit risk mitigation is most
(___204__) to loans with standardized payment schedules
and similar credit risk characteristics such as housing
loans, auto loans, credit card receivables, etc. Further,
shedding loans through securitization might (__205__)
client relationship. In this context, credit derivatives
provide a new technique for managing credit risk.

Q719.

196.

(a)by

(b)onto

www.jkchrome.com

(c)for K(a) desired
(d)at (b)suited
(e) through (c)wanted
Q720. 0 (d)suitable

www.jkchrome.com

(c) operations
(d)dealing
(e) work
Q724.

201.
(a)gained
(b)sold
(c)valued
(d)bought

(e) profited

Q725.
202.

(a) gigantic
(b)slowly
(c)slightly
(d)needlessly
(e)impressively

197. (e)popular

(a) watching Q728.

(b)mitigating ¢ 205.

(c) taking (a)kill

(d)affording (b)lynch

(e) seeing ¢ (c)promote

Q721. (d)damage

198. (e) bum

(a)lack

(b)supply Directions: in the following passage there are blanks,
(c)scarcity each of which has been numbered. against each
(d)void number, five words are suggested, one of which fits the
(e) want blank appropriately. find out the appropriate word in
Q722. each case.

199. Changing an organizations culture is one of the most
(a) luck difficult leadership challenges. That's because an
(b)fortune organizations culture (___206__) interlocking set of goals,
(c)activities roles, processes, values communications practices,
(d)opportunities attitudes and assumptions. These elements (__207__)
(e)chance together as a mutually reinforcing system and combine to
Q723. prevent any (___208___) to change it. That is why single fix
200. challenges, such as the introduction of teams. Of lean, or
(a) place agile, or scrum or knowledge management or some new
(b)transaction process, may (__209__) to make progress for a while, but

www.jkchrome.com
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(__210__) the interlocking elements of the organisational (c) gain
culture (__211__) over and the change is Inexorably (d) set
drawn (__212_ ) into the existing organisational culture. (e) back
Changing a culture Is large scale undertaking and Q736.
eventually all of the organisational focus for changing 213.
minds will need to be put in play. However, the (__213__) (a) order
in which they are deployed has a Critical (__214__) on the (b) succession
(__215__) of success. (c) Idea
Q729. (d) step
206. (e) label
(a) Less Q737.

(b) embraces 214.

(c) comprises (a) affect
(d) makes (b) impact
(e) composes (c) control
Q730. (d) jolt
207. (e) shake
(a) amalgamate Q738. *
(b) conjoin 215.

(c) fit (a) chan
(d) stands

(e) attach

Q731.

208.

ions: in the following passage there are blanks,

(a) attempt

(b) energy 2

(c) ways Keach of which has been numbered. against each
(d) power Q number, five words are suggested, one of which fits the

(e) tries blank appropriately. find out the appropriate word in
Q732. each case.

209. Studies ___1___ the impact of computer models to support
(a) Look policymaking processes in organizations have ___2___ that
(b) appear ¢ client involvement in the model building process is often a
(c) perform __3___ for effective model building. One important reason
(d) suspect is that the process of model building is frequently more
(e) seek ¢ important than the resulting model. Model building itself Is
Q733. largely a £ process about the problem. Most ___5___ about
210. the characteristics of an ill structured problem are gained
(a) especially during the ___6__ process of designing a computer model,
(b) presently rather than after the model is finished. Another important
(c) likely reason is that most Information in an organisation __ 7___
(d) eventually In the mental models of organisation members. To support
(e) lately policy making in organisation Jt is this knowledge which
Q734. needs to be __8__ and represented In the model. An
211. important topic in client oriented or ___9___ model building
(a) Bounce thus becomes the __10___ of relevant knowledge
(b) throw contained in the mental models of participants.

(c) seize Q739.

(d) jump 1.

(e) take (a) evaluating

Q735. (b) focussing

212. (c)projecting

(a) forth (d) advocating

(b) ahead (e) directing

www.jkchrome.com www.jkchrome.com www.jkchrome.com
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740. (d) accentuated
?.) . . (e) formative

a) devise Q748.
(b)exhibited 10.
(c)convinced (a) demarcation
(d)attributed (b)formation
(e) indicated (c) proliferation
Q741. (d)association
3. (e) elicitation
(a) support
(b)valuation Directions: in the following passa here”are blanks,
(c)prerequisite each of which has been against each
(d)material number, five words are sugg e of which fits the
(e) blueprint blank appropriately. fi t ppropriate word in
Q742. each case.
4. With the U.S. military tie on two fronts and the rest
(a) valuable of the world growing (__11__) to American power, the

(b) durable challenges for e,as (__12__ ) as they have been for
(c)tedious any Secreta State/in the past three decades. After six
(d) learning i others on Bush’s national security
(e) critical team, en off her rivals and (__13__) as the

Q743. pri

5 ewarddhas been to (__15___) responsibility for selling a

(a) thinking dipolicy in Iraq and (__16__) a legacy for Bush at a
(b) insights hen (__17__) in the world are in the mood to help
(c)planning e Bush is severely (__18__) and has very little
(d) appreciation (__19__) or support at home or abroad, says Leslie Gelb,
(e) opinions former president of the Council on Foreign Relations. That
Q744. is (__20___) true for his Secretary of State. So they are
6. basically flailing around.

(a) elongated Q749.

(b)concentrated 11.

(c)iterative ¢ (a)resistant

(d)evolving (b)subservient

(e)consumate (c)immune

Q745. ¢ (d)cordial

7. (e)indifference

(a) resides Q750.

(b) follows 12,

(c) settles (a) obvious

(d) lays (b)trivial

(e) committed (c)superfluous

Q746. (d)daunting

8. (e)rewarding

(a) extende Q751.

(b) bisected 13.

(c) subjected (a)renamed

(d) captured (b)emerged

(e) attributed (c)appointed

Q747. (d)entrusted

9. (e)visited

(a) revolving Q752.

(b) interactive 14.

(c)dogmatic (a) aid

www.jkchrome.com www.jkchrome.com www.jkchrome.com
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(b)recognition
(c)policy
(d)acceptability
(e)minister
Q753.

15.

(a) shirk

(b) avoid
(c)transfer
(d) visualize
(e) inherit
Q754.

16.

(a) focusing
(b)framing
(c)escaping
(d) salvage
(e) demolishing
Q755.

17.

(a) people
(b)few
(c)diplomats
(d) autocrats
(e) most

Q756.

(d) protected

(e) supported

Q757. 4
19.

(a) credibility

(b) difficulty ¢
(c)majority

(d) power

(e) enthusiasm

Q758.

20.

(a) not

(b) uniforml

(c)remote,

(d)partially

(e) also

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

These numbers are printed below the passage and against
each five words are suggested, one of which fills the blanks

www.jkchrome.com
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18. K o

(a) intensified (a) demand
(b)masterminded (b) improvement
(c) weakened O (c)approval

www.jkchrome.com
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appropriately. Find out the appropriate word in each
case.(RBI GradeB Officer Exam. 2008) Sport may be a
(__21__ ) pursuit for many yet it does define life in all its
(__22__ ). The (__23__) of sport lies in enjoying the
(_24__) of the sportsman who weaves (__25_)
patterns on the field to leave the watcher spellbound.
Great (__26__) does not always make a great sportsman.
that talent
(__27__) itself in times of im He h prove,time and
30_)hels

What makes a great sportsman is

again that when (__29__) of the team is a
the one to be relied upon.

Q759.

21.

(a) expensive

(b) regular

(c)unusual

(d) significant

(e) meaningles *

Q760.

(d) beauty
(e) accomplishment
Q762.

24.

(a)skills

(b) nature
(c)capacity
(d) industry
(e) cunning
Q763.

25.
(a)perfect
(b) sensible
(c)simple
(d) daring
(e) intricate
Q764.

26.

(a) resources
(b) practice
(c)talent

(d) contribution
(e) decision

Q765.
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27.

(a) possesses
(b) contributes
(c)transfers
(d) expresses
(e) retains
Q766.

28.

(a) uncertainly
(b)need

(c) calamity
(d)difficulty
(e) encounter
Q767.

29.

(a) dominance
(b) endeavour
(c)escape

(d) winning
(e)survival
Q768.

30.

(a) vicinity
(b) imbalance
(c)stake

(d), decline
(e) dishonour

Directions: in the following passage there are

each of which has been numbered. against e
number, five words are suggested, one of its t
blank appropriately. find out the %)

each case.

others for the things the .4Good negotiation was
des. While the barter
asic needs, today the barter

e barter system transcends

hat makes the barter system even
r before is that it can now be done
globally. In st bartering was simply done with those
that were located nearby. Today the barter system can be
used In a much more (___37___) way than ever before yet it
carries with it the same basic motivation the need for
something that you dont have and the excess of something
that someone else wants. The barter system is enjoying
(__38__) interest today. Bartering allows you to get the
things you need without having to (__39__) additional
money. Instead you can use the things you no longer need
or want to get the things you do heed. There are swap

www.jkchrome.com
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markets and online auctions that (__40__) you to sell or
—I trade your items or to purchase items that you want.
Negotiation takes place jUst like it did hundreds of years
ago.

Q769.

31.

(a) discovered

(b) dates

(c)began

(d) started

(e) initiated

Q770.

32.

(a) bought

(b) imagined

(c)began

(d) emerged

(e) invented *

(a) important
(b) essential,
(c) result

(d) key

(e) intention
Q773.

35.

(a) originated
(b) stood
(c)generated
(d) created
(e) produced
Q774.

36.

(a) issue

(b) comeback
(c)withdrawal
(d) recall

(e) fading
Q775.

37.

(a) primitive
(b) appreciated
(c)promoted
(d), sophisticated
(e) better
Q776.
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38.

(a) diminishing
(b)revival

(c) perishing
(d)declining
(e) renewed
Q777.

39.

(a) expend

(b) exchanging
(c)expand

(d) consume
(e)cost

Q778.

40.

(a) insist

(b) force

(c)allow
(d) lure
(e) constraint

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The continuing economic crisis has put central banks
governments the world over into (__41___) waters. e
industrialized West, the question seems to be

between economic stimulus and jobs, in thefhope
creating a softer landing, or a swift shock atghethands)of

the free markets, in the hope of g e
(__42__) more quickly. In emerging stion
is how to deal with being the focal investors
looking to maximise returns. Specifically, e Federal

Reserve in the United States, ‘that 1§el (__43_)
hundreds of billions of dollafsWintohthe markets buying
Treasury bills to increase diguidity.“In> Europe the concern
is that monetary union risk due to the strains
posed by eurozone ies that are (__44__) in
(_45_). In Asi ther hand, economies are

US unemployment remains persistently high at around 10
per cent, while Inflation remains astoundingly low at 1 per
cent or less, the slowest on record. That's despite the Feds
earlier injection of $ 1.7 trillion into the financial system to
avert an economic depression in the wake of the global
financial crisis. In contrast to the Feds quantitative easing,
the European Central Bank has reduced liquidity in the
European banking system by some 350 billion euros
during the past five months. This reflects the central banks
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www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

(__49__) in the improved stability of the banking system
and easier (__50___) to capital.
Q779.

41.

(a)tested

(b)unpredictable

(c)under

(d)unquestionable
(e)uncharted

Q780.

42.

(a) downturn

(b) spectrum

(c) options

(d) hope

(e) drama

Q781.

(c) above

(d) unhappy
(e) out
Q783.

45.

(a) market
(b) trouble
(c) debt

(d) surplus
(e) manner
Q784.

46.

(a) positive
(b) negative
(c) trouble
(d) growth
(e) process
Q785.

47.

(a) cost
(b)depreciation
(c)cooperation
(d)inflation
(e)rate
Q786.

48.
(a)challenged
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(b)overstated
(c)perfect
(d)predicted
(e) simple
Q787.

49,

(a) weakness
(b) strength
(c)correction
(d) contract
(e) confidence
Q788.

50.

(a)denial
(b)approval
(c)appreciation
(d)access
(e)disposal

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Marine life (__51__) along the coast and in the ocean
results from harmful fishing practices such as trawling or
dynamite fishing poor land practices in agricultur
(___52__) development and forestry sectors an e
human activities such as mining and anchoring. D

habitats include sea grasses, marshes, corals d man,
groves all of which are important nurseriesgforfish and
critical for buffering coasts from storm e. D ng
habitat can lead to increased (__53_% an

increased impact from storms, fewer 5 grounds
and fewer places for animals and plants to estructive
fishing, landbased sedimentati dred marine
recreation, typhoons and p?or agricultural

practices, and coastal d nd land (__55_)
te productive marine
ical impact derives from
astal waters from activities
tion, which produces turbidity
___) of sunlight (___58__) primary and
secondary,pro us altering food web dynamics. The
smothering al reefs by sediment also (___59__) fish
and produces ecosystem changes. Chemicals in sediments,
such as DDT or heavy metals, may bio accumulate in
marine life as well. Oil spilling is also major problem for
the destruction of the (__60__) life.

Q789.

51.

(a) destruction

(b)construction

(c)obstruction

habitats. One majo
increased sedime
such as logging.
and limits th
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(d)description
(e)evolution
Q790.

52.

(a) coast

(b) coastal
(c)coasting
(d) bank
(e)edge
Q791.

53.

(a) Igneous
(b) deposit
(c)erosion

(d) metamorphic
(e) deposition

Q792.
54, ¢

(a) nursin

clamation
(b)accumulate
(c)accommodation
(d)deserting
(e)habitat
Q794.
56.
(a) add
(b) impair
(c)sound
(d) destructive
(e)construct
Q795.
57.
(a) penetrate
(b) filter
(c)obstruction
(d)passing
(e) penetration
Q796.
58.
(a) effects
(b) affects
(c)endangers
(d)facilitates
(e)reduces
Q797.
59.
(a) Increases
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(b) negates (b) compete
(c)reduces (c) complete
(d) produces (d) surrender
(e)reduced (e) commensurate v
Q798. Q801.
60. 63.
(a) coasted (a) inspite
(b) ocean (b) additional
(c)marine (c) in addition
(d) land (d) despite
(e) forest (e) despite of
Q802.
Directions: in the following passage there are blanks, 64.
each of which has been numbered. against each (a) fact
number, five words are suggested, one of which fits the (b) quality
blank appropriately. find out the appropriate word in (c) fault
each case. (d) default
The rise of Asian manufacturers in the 1990s hit African (e) fiction

firms hard many were wiped out. Northern Nigeria, which
once had a (__61__) garments industry, was unable to
(___62__) with low cost imports. South Africa has similar
problems its manufacturing failed to grow last year
(___63__) the continental
(__64__) of governments. Buoyed by commodity income,
they have neglected industry’s needs, (___65__) for roads
and electricity. But that, too, iay at last be changing.
Wolfgang Fengit a World Bank economist, says, Airads n
in a good position to industrialise with the right
ingredients. This includes
urbanisation, an emerging middle class
services. For this to happen, he adds, the
need to scale up its infrastructure (
the business climate and many (African
started to (___68__) these challenge
Kenya is not about to become (

African countries are likely to foll iverse path, (b)disinvestment
benefiting from the growth of s small%and medium (c)investments
sized businesses, as well ones. For the next (d)development
decade or so, services enerate more jobs and (e) developing
wealth in Africa tha nufacturing, which is fine. India Q806.

has (__70__) for two decades ori the back of 68.

services, while a uilding a manufacturing sector (a) tackle

from a very e. Do not bet against Africa doing the (b) tackling
same. (c) decrease
Q799. (d) increase

61. (e) improve

(a) thriving Q807.

(b) flourish 69.

(c) detractive (@) a

(d) dooming (b) an

(e) repulsive (c) the

Q800. (d) such

62. (e) for

(a) competed Q808.
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boom. This is partly the
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of (a) favourable

(b) favourably

(c) ferocious

1 (d) special
ve (e) contrast
have Q805.
ent years. 67.
(a) expenditures
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70.

(a) boomed
(b) booming
(c) boom

(d) expand

(e) plummeted

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

In these days of economic liberalisation, globalisation, etc.
materialistic values have assumed 1) importance, Money,
physical comforts and luxuries are the most sought after
aspects. There has been (__2__) competition. Such
competition (__3__) undue stress. The stress leads to
(__4_) of health of the people. Indian culture has
(___51__ its striking uniqueness, as against the Western
culture, iri the fact that there is a (__6__) place for
spiritualism in our value system in all walks of life. The
spirituality is a very (__7__) force which helps us In
maintaining our physical and mental health. It gives us
(___8__) to cope With the stress. Westerners have now
(___9__) the importance of spirituality and, therefore, they
have started (___10___) us in the matter of spirituality.

Q809.

1.

(a) usual

(b) little 0

(c) tangible

(d) least

(e) greater ¢
0810.

2.

(a) critical

(b) unhealthy
(c) unequalled
(d) no

(e) absolute
Q811.

3.

(a) releases

(b) deserv,

(c) generate

(d) demonstrate
(e) suppresses
Q812.

4.

(a) neglect

(b) illness

(c) generation
(d) deterioration
(e) encroachment
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813.
5.
(a) maintained
(b) illustrated
(c) marginalized
(d) bestowed
(e) forsaken
Q814.
6.
(a) vast
(b) brief
(c) formal
(d) clean
(e) distinct
Q815.
7.
(a)dormant
(b) dedicated
(c) vital

e)¥clearance
(d) sermons
(e) idealsj
Q817.
9.
(a) informed
(b) narrated
(c)intensified
(d) realised
(e) invented
0818.
10.
(a) encouraging
(b)imitating
(c) blaming
(d)preaching
(e) assuming

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

If we examine the opportunities for education of girls or
women in the less developed countries we usually find a
(__11__) picture. In some countries the ratio ( _12_ )
boys to girls in secondary schools Is (___13__) then seven
to one. In Afghanistan, Turkey and

Tunisia(__14_ )sizeable = towns have some sort
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of(__15__)where boys from a village may (__16_)
while they attend high school (__17__) there are no such
facilities for girls.
Q819.

11.

(a) dismal

(b) hazy

(c) bright

(d) dull

(e) None of these
Q820.

12.

(a) from

(b) of

(c) in

(d) for

(e) None of these
Q821.

13.

(a) lesser

(b) smaller

(c) better

(d) more

(e) None of these

Q822.
14.

(e) None of these

Q823.
15. 2

(a) school

(b) hotel

(c) office

(d) hostel ¢
(e) None of these
Q824.

16.

(a) eat

(b) remain

(c) study

(d) live

(e) None o
Q825.

17.

(a) moreover

(b) and

(c) however

(d) even

(e) None of these
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(a) no

(b) more

(c) most

(d) very < I
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Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Studies (__18__) the impact of computer models to
support policymaking processes in organizations have
(___19__) that client involvement in th
process is often a (__20__) for effecti
One important reason is that the pr
is frequently more important
Model building itself is largel
the problem. Most (___22__) e characteristics of
an ill structured proble ga during the (__23__)
process of designing a ¢emputer model, rather than after
the model is finished. important reason is that
most informatigagin an  organisation (__24__) in the
isation members. To support policy
n/it is this knowledge which needs to
spresented in the model. An important
iented or (__26__) model building thus

resulting model.
) process about

(b) focussing
(c)projecting
(d) advocating
(e)directing
Q827.

19.
(a)devised
(b)exhibited
(c)convinced
(d)attributed
(e) indicated
0828.

20.
(a)support
(b)valuation
(c)prerequisite
(d) material
(e) blueprint
Q829.

21.

(a) valuable
(b) durable
(c) tedious
(d) learning
(e) critical
Q830.

22.

(a) thinking
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(b) insights
() planning
(d), appreciation
(e) opinions
Q831.

23.

(a) elongated
(b) concentrated
(c) iterative
(d) evolving
(e) consumate
Q832.

24,

(a) resides
(b) follows
(c) settles

(d) lays

(e) committed
Q833.

25.

(a) extended
(b) bisected
(c) subjected
(d) captured
(e) attributed
Q834.

(d) accentuated

(e) formative

Q835. 4

27.

(a) demarcation

(b) formation P
(c)proliferation

(d) association

(e) elicitation

Directions: in the,fol
each of which
number, fiv
blank appro,
each case.
There once was” a time when people thought of the
environment, they thought of its beauty. But now as the
natural beauty of the earth (__28__) many people around
the world have (__29__) up to the realities of Just how
fragile our earth actually is. Central to this issue is
pollution, which involves the production of (__30__)
substances into the air, land, and water. Although pollution
has been occurring (__31___) the earth’s history, the rate
by which the human species have (__32__) to the amount

passage there are blanks,
a en numbered. against each
are suggested, one of which fits the
find out the appropriate word in
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26. K o

(a) revolving (a) adverse
(b) interactive (b) evil

(c) dogmatic < I (c) insecure
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of pollution that has entered our environment over the
(__33__) so many years far (__34__) the earths inherent

ability to heal itself .Along with pollution,

deforestation has Eilso (___35__) a growing problem to the
health of our environment. The (__36__) of forests
without sufficient reforestation has gradually worn down
natures  natural  defence against air  pollution,

desertification, and soil nutrient loss. Thi
to a point that we are now (__37__
future without trees, which would ul#i
without people.

Q836.

28.

(a) disappears

(b) demolishes

(c) stops

(d) remains

(e) destroys *
Q837.

(d) harmful
(e) worse
Q839.

31.

(a) never

(b) throughout
(c) always

(d) everywhere
(e) forever
Q840.

32.

(a) evolved
(b) prompted
(c) contributed
(d) imparted
(e) encouraged
Q841.

33.

(a) recent

(b) ancient

(c) departed
(d) coming
(e) past
Q842.
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34.

(a) exceeds
(b) outnumbers
(c) continues
(d) matches
(e) expands
Q843.

35.

(a) answered
(b) comprise
(c) posed

(d) resulted
(e) solved
Q844.

36.
(a)expansion
(b)finishing
(c)withdraw
(d)missing
(e) cutting
Q845.

37.
(a)expressing
(b)facing
(c)overcoming
(d)venturing
(e) wishing

Directions: in the following passage there are
each of which has been numbered. against e
number, five words are suggested, one of its t

blank appropriately. find out the %) in
each case.
Barcelona is not one of the most bea es in the

fine places
to spend a (__39__) hour o The Rambles, a tree
lined avenue as broad (| autiful as any Paris
boulevard, is magical ((\4 that time of the day,
presenting a colou phony (__42__) flowers,
sunlight and p ews was (_43_) an
international confere Barcelona. (___44__) was the
first time he to the city. Like most people he
had (___46. ) bout the Rambles and was (__47__)
to go there.

Q846.

38.

(a) there

(b) their

(c) those

(d) where

(e) None of these

Q847.
39.

(a)busy

(b) first

(c) quiet

(d) one

(e) None of these
0848.

40.

(a) but

(b) and

(c) or

(d) so

(e) None of these

Q849.
41.

(a) to

(b) for

(c) on

(d) at

(e) None of the
Q850.

(a) attending

(b) visiting

(c) reading

(d) participating
(e) None of these
Q852.

44,

(a)That

(b) When

(o) It

(d) Which

(e) None of these
Q853.

45.

(a) visited

(b) been

(c) come

(d) gone

(e) None of these
Q854.

46.

(a) listened

(b) seen

(c) looked

(d) heard

(e) None of these
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Q855.
47.

(a) eager

(b) wishing

(c) prepared

(d) busy

(e) None of these

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The insurance industry is (___48__) myriad challenges
arising from intense competition, rising regulatory
compliance and growing payouts (__49__) to fraud and
natural disasters. It is (__50__) that competitive
pressures will make offshoring of information technology
(IT) and business processes, a growing imperative in the
insurance industry(__51__) to mainstream banking and
financial services, where the early adoption of automation
and IT helped facilitate outsourcing, first in IT services and
later in BPO, the insurance industry has lagged (__52_).
This is one reason why insurance companies have been
more conservative in their attitude to business process
outsourcing, all (__53__) to off shoring. With expected
cost savings of 30% to 40%, and other (__54__) such
focusing on core competencies and (__55__) to sKilled
labour, it is (__56__) that the insurance off
industry is (__57__) for significant growth i en
three to four years.

Q856.
48. 2

(a) looking
(b) pressing
(c) watching ¢
(d) facing
(e) focusing
Q857.

49.

(a) reason
(b) due

(c) owed
(d) lent

(e) made
Q858.

50.

(a) featured
(b) proof
(c) wanted
(d) thought
(e) expected

Q859.
51.
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(a) Compared

(b) Similar

(c) Unlike

(d) Balanced

(e) Alike

Q860.

52.

(@) in

(b) back

(c) up

(d) behind

(e) slow

Q861.

53.

(a) especially,

(b) important

(c) precise

(d) main *
(e) regularl

s
e)idetriments
Q863.
55.
(a) excess

(b) open

(c) availability

(d) gain,

(e) access

Q864.

56.

(a) deem

(b) timed

(c) believed

(d) idea

(e) doubted of

Q865.

57.

(a) available

(b)assured

(c)poised

(d) gear

(e) concentrated

(___58__) her monumental reputation the Mona Lisa was a
(__59__) thirty-one inches by twenty one inches, smaller
even than the poster of her sold in the Louvre Gift shop.
She hung on the north west wall of the Salle des Etats
(__60__) a two inch thick pane of protective plexiglas.
Painted on a popular wood panel her (___61__) mist filled
atmosphere was attributed to Da Vincis mastery of the
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sfumato style, in which forms appear to (___62__) in to one
another.

Q866.

58.

(a) Despite
(b)Unlikely to
(c)Even with
(d)None of the above
(e) like with

Q867.

59.

(a) Only

(b)Mere

(c)Just

(d)None of the above
(e) few

Q868.

60.

(@) In

(b)On

(c)Behind,

(d)None of the above
(e) of

Q869.

61.

(a) Ethereal

Q870.

62.

(a) Get duplicated ¢

(b)Evaporate

(c)Constituted

(d)None of the above P

(e) formed

Directions: in the following age there are blanks,
each of which ha numbered. against each
number, five words a ested, one of which fits the
blank appropri ! out the appropriate word in
each case.

Its earlieg, da ndicraftsman, the typical labourer,

received a (___63__) from the work he did, His
efforts were mostly to his own (___64__). He saw the fruits
of his own work in— the (__65__) object he produced.
Moreover, the (__66__) of this object (__67_)
demanded his adaptability or inventive ness to overcome
the (__68__) which arose. In a real sense one can speak of
his (__69__). Today all is (__70__). A standardised job is
done in a standardized (__71___) and a standardised job
for a standardised (___72__).

Q871.

(b)Curious K(e) None of these
(c)Pictorial Q875.

(d)None of the above 67.

(e) picture O (a) often

63.
(a)co9olation
(b)satisfaction
(c)remuneration
(d)reward

(e) None of these
Q872.

64.

(a) betterment
(b)benefit
(c)advantage

(d) profit

(e) None of these
Q873.

65.

(a) complete

(b) full
(c)perfect
(d) whole

(b) generally
(c)always

(d) invariably
(e) None of these
Q876.

68.

(a) riddles

(b) obstructions
(c)doubts

(d) difficulties
(e) None of these
Q877.

69.

(a) trade

(b) work
(c)talent

(d) attempt

(e) None of these
Q878.

70.

(a) disappeared
(b)revolutionised
(c)changed

(d) reversed
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(e) None of these
Q879.

71.

(a) mode

(b) manner
(c)method

(d) style

(e) None of these
Q880.

72.

() pay
(b)remuneration
(c)salary
(d)wage

(e) None of these

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Recently the World Bank and the Asian Development Bank
(ADB) released separate reports on poverty. The World
Bank Report (__73__) Its benchmark of extreme poverty
by 25 cents from $1 per person per day to $1.25per
person a day. The ADB announced an even higher
benchmark of $1,35per person a day. Thes
benchmarks are (__74__) on surveys in the
poorest Countries. Experts often like to (__75
poverty has declined because of economic growth'in Indi
and China. This is wrong and misleading4In\the past
twenty-five years the poverty rate in Indi
by less than one percentage point a year,
poverty line of $1 per person per day o .
per day makes little (__77__). The nu r of poor In
India is large. The purpose of t
dispute them but to stud
economic growth are bein
Q881.

73.

(a) heightened
(b) announced
(c) raised

(d) maintaine
(e) notifie
Q882.

74.

(a) based

(b) collected
(c) inferred
(d) derived
(e) gathered

Q883.
75.
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(a) realise

(b) claim

(c) discover

(d) recommend

(e) criticise

Q884.

76.

(a) deplete

(b) plunge

(c) declined

(d) weaken

(e) fell

Q885.

77.

(a) difference

(b) effect

(c) contrast

(d) question 4
(e) option

% ropriately. find out the appropriate word in

V out doubt there is one thing (__78__) to all of us we
have all played a game at some time in our lives. Most of us
play to relax or have fun, but for many, playing a game or a
sport is a way to (__79___) poverty behind. In fact, In many
African countries, playing a sport professionally can
(___80__) the lives of a person’s entire family. For example,
in the small town of Bekoji, in Ethiopia (__81__) than a
hundred boys and girls can be seen running at dawn
everyday. Each of these youth is (__82__) and serious and
their coach is (__83__) that one of them will be a world
champion. This seems like an idle (__84__) but it is
virtually a guarantee in this small community (___85_ )
mainly farmers. Many of the fastest male and female
distance runners in the world hail from this small town. A
small hand painted sign which greets visitors outside
Bekoji (__86__) Welcome to the Village of Athletes.
Children here start running at an early age, (__87___) great
distances to fetch water and firewood or to reach school.
At the Olympics, runners from this small town are likely to
win more medals than those from developed countries. It
will give their families a way out of poverty.

Q886.

78.

(a)popular

(b)accepted

(c)common

(d)alike

(e)similar

Q887.

www.jkchrome.com



23 www.jkchrome.com www.jkchrome.com www.jkchrome.com

79. (e) reads

(a)leave Q895.

(b)alleviate 87.

(c)forgot (a) competing

(d)prevent (b) covering

(e)reduce (c)driving

Q888. (d) measuring

80. (e) following

(a)shift

(b)changes Directions: in the following pass

(c)arrange each of which has been numb

(d)control number, five words are sugges

(e)transform blank appropriately. find o

Q889. each case.

81. According to a report 1991, there were about 5.4
(a)larger billion people in the \%% om 1990 to 1991, the
(b)further population incr 95___ million and now has
(c)more continued to aﬁ"ate This may (___88__) to be
(d)greater new danger, e were to think of it as a pond
(e)over doubling of lily pads for __40___ days, they
Q890. woul 9__ ). It will start out with one lily pad,

82. the it will have two and on the __39__th day it
(a) performed vi __) filled. The Earth’s population is doubling
(b)concentrated , ___ years. We don’'t want to wait until the
(c)rival th year to (__91___) Our problem or else
(d)focused ankind will not have enough time to change the
(e)playful Kmewtable (__92__) that come with overpopulation. An
Q891. expert on the subject believes the impact on the
83. environment is equal to the population multiplied by the
(a) confident affluence, which means the amount of energy and food
(b) convince supply the population (___93__). Therefore, with a larger

(c)optimist population, there is a (__94__) impact on the Earths
(d) intended ¢ water, air and land. A common problem, that people think
(e)privilege is associated with overpopulation is associated (__95__)
0Q892. out of space to live, but there are also many other
84. ¢ environmental predicaments that it (__96__) More people
(a) precaution use more cars, need more water (___97__). Therefore,
(b)boast population control is necessary on an international level in
(c)suspicion order to protect our environment.

(d) risk Q896.

(e)worship 88.

Q893. (a) Appear

85. (b) seems

(a) for (c) apparent

Eb));lxisting Ed)) lf‘)iglure .

c)that e) believe

(d) comprising Q897.

(e) consisting 89.

0Q894. (a) Accusingly

86. (b)differently

(a) wish (c)faithfully

(b) warn (d)fact

(c)inform (e)cleared

(d) notices Q898.
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90.

(a) Completely
(b)subtly
(c)forever
(d) little

(e) not
Q899.

91.
(a)Answer
(b)support
(c)elevate
(d)fix

(e) pick
Q900.

92.

(a) Obstacles
(b) high
(c)personalities
(d)doom
(e)collisions
Q901.

93.

(a) Assembles
(b)makes
(c)consumes
(d)follows
(e)gives
Q902.

94,
(a)Minuscule
(b)regular
(c) enhanced
(d) alternate
(e)greater
Q903.

95.

(a) going

(b) be

(c) Running
(d) not

(e) travelling
Q904.

96.

(a) Result;
(b)creates
(c)hampers
(d)causes
(e)substantiates
Q905.

97.

(a) Table
(b)availability
(c)sources
(d)reception

™
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(e)depletion

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

There are experts who believe that pop
not needed such as in Singapore.

control is

Singapore decided that it would ) for the
country to grow in population so able to help
their economy. Many less de tries (___99_)

population growth because
grow The experts who b

the population increase se on its own also think
that overpopulation will ___) become a , problem.
Justification for this argument is that humans will adjust
01" ) population because they are
to think, make decisions, and find
__102__) a problem Advocates for

dec

this ink that there is no need to (__103__)
abo mental problems because there is or will be
ech to fix the problems. As for with the (__104__)

resources, they believe that there would be

S to get newer and more food and energy resources.
Even during this time period, scientists are (__105__) to
discover a new way for people to live elsewhere such as
under the sea. Many people believe that overpopulation
will cause and (__106__) caused many environmental
problems, but they don’t think telling families how many
children they are allowed to have Is the way to control the
population. However there has not been any other
(__107__) suggestion on how to lower population growth,
so limiting families to two children is the only solution.
Q906.

98.

(a) better

(b)bad

(c)worse

(d)discouraging

(e)innovation

Q907.

99.

(a) demote

(b)discourage

(c)promote

(d)promoted

(e)degraded

Q908.

100.

(a) over

(b) ever

(c)always

amou
people to think of new ways to make it easier or
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(d) often number, five words are suggested, one of which fits the
(e) never blank appropriately. find out the appropriate word in
Q909. each case.

101. There are experts who believe that population control is
(a) growth not needed such as in Singapore. The government in
(b)growing Singapore decided that it would be better for the country
(c)decrease to grow population so that they are (__108__) to help
(d)decreasing their economy. Many less developed cou (__109_)
(e) grown population growth because they wa nomy to
Q910. grow. The experts who believe that i r for us to let

102. the population to increase or de s own also

(a) encounter think that over population (__110_) a
(b) encountered problem. (__111__) for this g is that humans will
(c)encounters adjust to the growing pfbecause they are a
(d) faces species that are able tg\thinkjimake decisions and find
(e) challenges solutions when they(___ a problem. Advocates of
Q911. this(___113__)think that there is no need to worry about
103. environmental e s‘because there is or will be
(a) worried technology to the 'problems. As for the (__114_ )

(b)worrying amount , they believe that there would be
(c)worries more ink, of new Ways to make it easier or
(d)worry fast newer and more food and energy resources.

(e) please Man ople” believe that overpopulation will cause and
Q912. C many environmental problems, but they don’t
104. % __115__) families how many children they are
(a) limit allewed to have is the (__116__) to control the
(b) unlimited Kpopulation, However, there has not been any other
(c)plentiful __117__) suggestion on how to lower population growth,
(d) limited so limiting families to two children is the only solution.
(e) limiting The worry about population started when it was noticed
Q913. that many of the earth’s resources and environment were
105. being hurt.
(a) try ¢ Q916.
(b)tried 108.
(c)trying (a) able
(d)throwing ¢ (b) made
(e) think (c) tried
Q914. (d) successful
106. (e) catering
(a) have Q917.
(b)had 109.
(c)has (a) farther
(d)will be (b) promote
(e) has be (c) witness
Q915. (d) subject
107. (e) demote
(a) plausible Q918.
(b)unreasonable 110.
(c)ill (a) lead
(d)discouraging (b) become
(e)worthless (c)cause
(d) provide
Directions: in the following passage there are blanks, (e) have
each of which has been numbered. against each Q919.
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111.

(a) knowledge
(b)reasons

(c) projecting
(d)truth
(e)Anticipation

Q920.
112.

(a) allow

(b) generalise
(c)encounter
(d) find

(e) suffer

Q921.
113.

(a) purpose
(b) mentality
(c) perception
(d)mind

(e) always

Q922.
114.

(a) less

(b) more

(c) fewer

(d) smaller

ANSWERS :
1d2b

16 e

30b

44 a

58 ¢

72 e

86d

100d
114 e
128 a
142 e
156 d
170 b
184 e
198
212 e
226 b
240 b
254 b
268 e
282 b
296 c
310d
324 a
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4c
18 b
32c
46 e
60 b
74 b
88 b
102 a
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(e)decreasing
Q923.
115.
(a)that
(b)for
(c)about
(d)of
(e)since
Q924.
116.
(a)solution
(b)method
(c)find
(d)sample
(e)importance
Q925.
117.
(a)valid *
(b)good
(c)enoug
(d)su ul
(e) tica
5b 6a 7 8K9d 10 a 11c 12d 13e 14 b
19 ¢ 20 e 22d° 23b 24b 25d 26¢ 27a 28e
33b 34a (35e c 37b 38d 39d 40b 41b 42a
47 e 4 48 e4 50b 51d 52c 53b 54c 55d 56b
61 d 3a 64c 65b 66e 67c 68d 69a 70c
75d 77 ¢ 78b 79a 80e 81d 82e 83c 84b
89 e 91d 92a 93e 94c 95a 96d 97e 98b
‘0 105b 106e 107d 108a 109d 110e 111c 112b
118c 119e 120c 121b 122b 123e 124a 125b 126¢c
132b 133c¢ 134c¢ 135a 136d 137e 138a 139b 140d
146 c 147d 148a 149e 150c 151d 152a 153b 154d
159a 160b 161e 162c 163c 164b 165d 166a 167c 168e
173 e 174d 175e 176c 177a 178b 179d 180d 181d 182e
187d 188a 189d 190a 191b 192c 193e 194d 195b 196¢c
201b 202e 203b 204d 205e 206c 207a 208b 209d 210c
215e 216b 217a 218b 219d 220a 221c 222d 223e 224a
229a 230b 231d 232e 233c 234e 235d 236c¢c 237a 238d
243a 244d 245a 246c 247a 248b 249e 250d 251d 252b
257b 258c¢ 259c 260d 261d 262d 263c 264a 265c 266¢
271e 272d 273c 274b 275d 276a 277c 278d 279e 280c
285b 286e 287b 288d 289b 290a 291c 292a 293d 29%4b
299a 300b 301le 302d 303a 304b 305d 306b 307a 308e
313a 314b 315a 316c¢c 317b 318d 319a 320b 321c¢ 322c
327b 328b 329b 330e 331a 332d 333e 334d 335d 336a
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15

29

43

57

71

85

99

113
127
141
155
169
183
197
211
225
239
253
267
281
295
309
323
337

[o I = VI T« T = VR S o W o S = DR = R DR B o B B N R S R o N o W = PR« S o a VR o



27 www.jkchrome.com

338 a 339 b
352 a 353 ¢
366 ¢ 367 b
380 a 381 c
394 d 395 b
408 d 409 e
422 a 423 d
436 b 437 a
450 d 451 ¢
464 a 465 d
478 e 479 a
492 e 493 b
506 a 507 c
520 b 521 ¢
534 d 535 a

548 ¢ 549 e
562 a 563 ¢
576 ¢ 577 d

590 a 591 e
604 a 605 d

618 ¢ 619 a
632 b 633 d
646 d 647 a
660 c 661 e
674 ¢ 675 b
688 c 689 a
702 b 703 d
716 b 717 e
730 ¢ 731 a
744 a 745 d
758 e 759 e

772 d 773 a
786 b 787 e
800 b

828 a
842 a
856 d

801d
8l4 e 815
c
b
870 7
884 c 5a
898 a 899 ¢

912 d 913 ¢
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344d 345e
358b 359e
372d 373e
386d 387c
400a 401c
414 e 415e
428 c 429e
442 e 443d
456 ¢ 457 e
470e 471b
484b 485a
498 b 499d
512d 513b
526a 527e
540d 541a
554 ¢ 555d
568a 569 e
582 e 583d
596 b 597

610 c
624 e
63

68
4D

708d 709b
722d 723 ¢
736 a 737b
750d 751b
764 c 765D
778 ¢ 779 e
792d 793 a
806a 807c
820b 821d
834e 835c
848b 849d
862c 863e
876 b 877 c¢
890d 891a
904d 905e
918c 919e
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348 a
362d
376 b
390 e
404 d
418 a

572 d
586 d
600 d
614 e
628 b
642 a
656 a
670 d
684 c
698 a
712 a
726 d
740 e
754 b
768 c
782 a
796 b
810 b
824 d
838 e
852 a
866 a
880 b
894 e
908 e
922 e
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349d 350e
363 e 364c
377c¢ 378b
391e 392a
405b 406a
419b 420e
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351
365
379
393
407
421
435
449
463
477
491
505
519
533
547
561
575
589
603
617
631
645
659
673
687
701
715
729
743
757
771
785
799
813
827
841
855
869
883
897
911

925 a
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